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Year 12 BTEC Extended Certificate in Applied Law

SummerIndependent Learning (SIL
The extended certificate in Applied Law covers 4 units over 2 years.
Unit 2 & 7 are internally assessed: coursework
Unit 1 & 3 are externally assessed: exams

Your SIL will focus on Unit 2 - Aspects of Criminal Law and the Legal System. This
is the first unit you will learn in September. Please complete ALL tasks ready for
your first day at New College and bring them with you to your first Law lesson.

If you don’t have access to a printer then you can hand write your answers.

You cannot plagiarise (copy) any work from the internet for any of the
tasks. Everything must be your own words.

The tasks in Part 1 and Part 2 are compulsory. However, your initial
assessment which will take place week commencing 8 September will only
be based on Part 1 tasks only.

Part 1 - General Elementsofa |Tasks 1 -4
Crime

Part 2 - Court structure & Legal| Tasks 5 - 6
Professionals

Part 1

Introduction to Criminal Law - Elements of a Crime

The general rule in all criminal offences is the prosecution must prove that the
defendant did the actus reus and had the mens rea of the crime to be found guilty.

Actus Reus (AR) = Physical element (the doing part of the crime)

Mens Rea (MR) = Mental element (guilty intention)

I TR

Sometimes people can be guilty of a criminal offence where they fail to act, for
example failing to stop and report an accident. This is known as being liable by
omission (LBO). You can only be LBO if D owed the V a positive duty of care before
the omission occurred.
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Watch the following YouTube clip to gain an understanding of omissions:

https://www.youtube.com/watch?v=vOM7vNPYW-s

Now complete the table below - you can find details of the cases through google

searches:
Area of Explanation/Rule Case Examples - Facts &
Omissions Outcome
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R v Gibbins & Proctor (1918)

Creation of R v Miller (1983)
A 4 aDanger
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Public
Policy

R v Wacker (2003)



https://www.youtube.com/watch?v=vOM7vNPYW-s
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Task 2
Go through each scenario below and decide if they can be liable by omission or not

and why, linking it to the relevant category and case above. Make your notes
around each scenario:
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Task 3

For many crimes the prosecution must also prove that the defendant caused the
end result e.g. for murder, it must be proven that the defendant caused the
victim’s death. There is a two-part test for proving causation, see the link for more
details and then complete the table below:

http://www.e-lawresources.co.uk/Causation-in-criminal-liability.php

Test for Factual Causation & case example -

Test for Legal Causation & case example -

Novus Actus Interveniens (intervening acts) are part of legal causation, this is
where the defendant tries to argue that an intervening act broke the chain of
causation making them not fully responsible or not liable at all.

Now complete the table below - you can find details of the cases through google
searches:

Intervening Explanation/Rule Case Example - Facts &
Act Outcome
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http://www.e-lawresources.co.uk/Causation-in-criminal-liability.php
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Task 4

Complete the mini scenarios below to decide if the defendant will be guilty or if the
chain of causation will be broken. Apply both factual & legal causation including any
relevant intervening act, see example scenario and model answer below:

Ben is having a shootout with the police and in order to protect himself, moves his
friend in front of him. The police shoot and a bullet hits his friend. On the way to
hospital, the paramedics do not close the back doors properly and his friend falls out

and dies an hour later from head injuries.

Factual cause applied to Ben using

the ‘but for’ test + case example %

Legal cause applied to Ben

Factual: '‘But for’ Ben using his friend as a shield, his friend would not have died because he would
not have been shot and had to be taken to hospital in an ambulance. Ben is therefore the factual
cause of his death. This is similar to the case of Pagett, where D used his pregnant girlfriend as a

weapon.

Legal: Ben’s culpable act of using his friend to protect himself from being shot is a substantial cause
of his friend’s death, however he isn't the sole cause because of the intervening act of the

paramedics.

Legal (intervening act): Ben will therefore try to argue that the third-party intervening act of the
paramedics should break the chain of causation. The paramedics did a palpably wrong act when
they didn’t close the doors properly, the head injury is independent of the injury caused by Ben'’s
culpable act, and this has become the main cause of death. Therefore, this is likely to break the
chain as the paramedic’s actions were grossly negligent (Jordan) and Ben is not the legal cause of

his death.

Conclusion: Overall, Ben will not be the cause of his friend’s death because the paramedic’s \

intervening act, so he will more likely be guilty of a lesser offence such
as GBH or wounding.

Conclusion — are they /

the cause or not?

Intervening act 3™ party
discussed + case example

Natasha and David are having an argument. Natasha grabs a knife off the kitchen and
stabs David. David is taken to hospital, he needs an urgent blood transfusion, however
Dr Strange forgets to check his medical records and gives him the wrong blood type

which he is allergic to. David has an allergic reaction and dies.

Answer:
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Ranjeet assaulted Amrita on the pier by the harbour and left her unconscious. During
the night there was a terrible storm and a freak wave dragged Amrita out to sea. It
was confirmed that the cause of death was drowning.

Answer:

Rob and his friends go on a night out and see someone who they disliked from school.
They chase him down the street and in order to escape the gang he jumps into a river
and drowns.

Answer:

Tim viciously attacked Matthew. Matthew is placed on life support. At the hospital
doctors conclude that there is no activity in his brain stem cells and it is in Matthew’s
best interest to turn off his life support.

Answer:
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Part 2

Task 1 - Court Structure

-i Supreme Court of the United Kingdom }4

Court of Appeal

Criminal Division ] Civil Division e

A
|

High Court of Justice

- Senior Courts of
England and Wales

Queen’s Bench Division Family Division Chancery Division

4

[ Crown Court }—

[ Magistrates’ Courts } County Courts }—J

Above is the court structure for England and Wales. Use these links to help you
draw and annotate your own court structure:
https://www.youtube.com/user/UKSupremeCourt

http://www.justcite.com/kb/editorial-policies/terms/uk-court-structure/

Questions that you need to answer are - What does each court do? Which judge
sits in each court? What type of cases do they hear?



https://www.youtube.com/user/UKSupremeCourt
http://www.justcite.com/kb/editorial-policies/terms/uk-court-structure/
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Task 2 - Lay People involved in the Criminal Justice System

A lay person is someone who is not legally qualified (ordinary people). Lay People
are involved in trials as Magistrates and Juries. They decide the guilt or
innocence of those on trial in the criminal courts.

Watch the following videos on the different people within the criminal courts, and
answer the following questions below:

Magistrates Court: https://www.youtube.com/watch?v=WeNDacwO5NA

8 Crown Court: https://www.youtube.com/watch?v=tZYvv s5R-s

®

1. Which criminal court do you find Magistrates and how many Magistrates sit on a
criminal trial?

2. What is the role of Magistrates (what do they do)?

1. What criminal court do you find Juries and how many Jurors sit on a criminal trial?

2. What is the role of Jurors (what do they do)?



https://www.youtube.com/watch?v=WeNDacwO5NA
https://www.youtube.com/watch?v=tZYvv_s5R-s

